

# JOURNAL

de Théorie des Nombres  
de BORDEAUX

*anciennement Séminaire de Théorie des Nombres de Bordeaux*

Hirofumi TSUMURA

**On multiple analogues of Ramanujan's formulas for certain Dirichlet series**

Tome 20, n° 1 (2008), p. 219-226.

[http://jtnb.cedram.org/item?id=JTNB\\_2008\\_\\_20\\_1\\_219\\_0](http://jtnb.cedram.org/item?id=JTNB_2008__20_1_219_0)

© Université Bordeaux 1, 2008, tous droits réservés.

L'accès aux articles de la revue « Journal de Théorie des Nombres de Bordeaux » (<http://jtnb.cedram.org/>), implique l'accord avec les conditions générales d'utilisation (<http://jtnb.cedram.org/legal/>). Toute reproduction en tout ou partie cet article sous quelque forme que ce soit pour tout usage autre que l'utilisation à fin strictement personnelle du copiste est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

cedram

*Article mis en ligne dans le cadre du*  
*Centre de diffusion des revues académiques de mathématiques*  
<http://www.cedram.org/>

## On multiple analogues of Ramanujan's formulas for certain Dirichlet series

par HIROFUMI TSUMURA

RÉSUMÉ. Dans cet article, nous prouvons des analogues multiples des célèbres formules de Ramanujan pour certaines séries de Dirichlet, qui ont été présentées dans ses cahiers bien connus. De plus, nous obtenons des versions multiples de formules semblables à celles de Ramanujan qui ont été données par Berndt et d'autres auteurs.

ABSTRACT. In this paper, we prove multiple analogues of famous Ramanujan's formulas for certain Dirichlet series which were introduced in his well-known notebooks. Furthermore, we prove some multiple versions of analogous formulas of Ramanujan which were given by Berndt and so on.

### 1. Introduction

Let  $\mathbb{N}$  be the set of natural numbers,  $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ ,  $\mathbb{Z}$  the ring of rational integers,  $\mathbb{Q}$  the field of rational numbers,  $\mathbb{R}$  the field of real numbers, and  $\mathbb{C}$  the field of complex numbers.

Ramanujan obtained the following fascinating formula:

$$(1.1) \quad \begin{aligned} & \alpha^{-N} \left\{ \frac{1}{2} \zeta(2N+1) + \sum_{k=1}^{\infty} \frac{1}{(e^{2k\alpha} - 1) k^{2N+1}} \right\} \\ &= (-\beta)^{-N} \left\{ \frac{1}{2} \zeta(2N+1) + \sum_{k=1}^{\infty} \frac{1}{(e^{2k\beta} - 1) k^{2N+1}} \right\} \\ & \quad - 2^{2N} \sum_{k=0}^{N+1} (-1)^k \frac{B_{2k}}{(2k)!} \frac{B_{2N+2-2k}}{(2N+2-2k)!} \alpha^{N+1-k} \beta^k, \end{aligned}$$

where  $N$  is any non-zero integer,  $\alpha$  and  $\beta$  are positive numbers such that  $\alpha\beta = \pi^2$ ,  $\zeta(s)$  is the Riemann zeta-function, and  $\{B_n\}$  are the Bernoulli

---

Manuscrit reçu le 30 mars 2007.

This research is partially supported in part by Grand-in-Aid for Science Research (No. 17540053), Japan Society for the Promotion of Science.

numbers defined by

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!}.$$

The formula (1.1) was introduced in Ramanujan's notebooks [5, P.275], and its proof was given by several authors (for details, see, for example, [1, 3, 4, 9]). Let

$$(1.2) \quad \mathcal{X}(s) := \sum_{k=1}^{\infty} \frac{1}{(e^{2k\pi} - 1) k^s} \quad (s \in \mathbb{C}).$$

If we put  $\alpha = \beta = \pi$  in (1.1) and consider the case  $s = N$  for any odd positive  $N$ , then the formulas

$$(1.3) \quad \begin{aligned} \mathcal{X}(3) &= -\frac{1}{2}\zeta(3) + \frac{7}{360}\pi^3; \\ \mathcal{X}(7) &= -\frac{1}{2}\zeta(7) + \frac{19}{113400}\pi^7; \\ \mathcal{X}(11) &= -\frac{1}{2}\zeta(11) + \frac{1453}{851350500}\pi^{11} \end{aligned}$$

can be derived. These results have been already studied by Lerch ([10]) and Malurkar ([11]); see also [5].

On the other hand, if we consider the case of any odd negative  $N$ , then

$$(1.4) \quad \begin{aligned} \mathcal{X}(-1) &= \frac{1}{24} - \frac{1}{8\pi}; \\ \mathcal{X}(-4m-1) &= \frac{B_{4m+2}}{8m+2} \quad (m \geq 1) \end{aligned}$$

can be derived. Furthermore, Ramanujan also obtained

$$(1.5) \quad \begin{aligned} \mathcal{X}(1) &= -\frac{\pi}{12} - \frac{1}{2} \log \left( \frac{\varpi}{\sqrt{2}\pi} \right); \\ \mathcal{X}(-3) &= \frac{\Gamma(1/4)^8}{5120\pi^6} - \frac{1}{240} = \frac{1}{80} \left( \frac{\varpi}{\pi} \right)^4 - \frac{1}{240}, \end{aligned}$$

where

$$\varpi = 2 \int_0^1 \frac{dx}{\sqrt{1-x^4}}.$$

Moreover, we consider

$$(1.6) \quad \mathfrak{X}_1(s) = \sum_{k=1}^{\infty} \frac{\coth(k\pi)}{k^s} \quad (s \in \mathbb{C}; \Re s > 1),$$

where  $\coth(x) = (e^{2x} + 1) / (e^{2x} - 1)$ . Then we see that for any  $s \in \mathbb{C}$  with  $\Re s > 1$ ,

$$(1.7) \quad \mathfrak{X}_1(s) = \sum_{k=1}^{\infty} \frac{e^{2k\pi} - 1 + 2}{(e^{2k\pi} - 1)k^s} = 2\mathcal{X}(s) + \zeta(s).$$

Hence  $\mathfrak{X}_1(s)$  can be meromorphically continued to  $\mathbb{C}$ . By combining (1.1) and (1.7), we have

$$(1.8) \quad \mathfrak{X}_1(4k + 3) = \frac{(2\pi)^{4k+3}}{2} \sum_{j=0}^{2k+2} (-1)^{j+1} \frac{B_{2j}}{(2j)!} \frac{B_{4k+4-2j}}{(4k + 4 - 2j)!}$$

for  $k \in \mathbb{N} \cup \{0\}$  (see also Ramanujan's notebooks [5, (25.3) P. 293]).

Needless to say, the fascination of these formulas is common with that of Euler's well-known formula for  $\zeta(2k)$ . For these 15 years, as a multiple analogue of  $\zeta(s)$ , the multiple zeta value

$$\sum_{k_1, \dots, k_r=1}^{\infty} \frac{1}{k_1^{p_1} (k_1 + k_2)^{p_2} \cdots (k_1 + \cdots + k_r)^{p_r}} \quad (p_1, \dots, p_r \in \mathbb{N}; p_r \geq 2)$$

(see, for example, [8, 13]) has been investigated actively in various branches of mathematics and physics, and many fascinating formulas among multiple zeta values were obtained. Therefore it seems to be interesting to consider certain multiple analogues of  $\mathfrak{X}_1$ . Indeed, in [12], Matsumoto and the author gave some functional relation formulas, for example,

$$(1.9) \quad \sum_{\substack{k, l \in \mathbb{Z} \setminus \{0\} \\ k+l > 0}} \frac{(-1)^{k+l+1}}{\sinh(k\pi)k^{2p}(k+l)^s} = - \sum_{k=1}^{\infty} \frac{(-1)^{k+1}}{\sinh(k\pi)k^{s+2p}}$$

for  $s \in \mathbb{C}$ ,  $p \in \mathbb{Z}$ .

In this paper, as  $r$ -ple analogues of  $\mathfrak{X}_1$ , we consider

$$(1.10) \quad \begin{aligned} &\mathfrak{X}_r(2p_1, \dots, 2p_{r-1}, s) \\ &:= \sum_{\mathbf{k} \in \Phi_r} \frac{\coth(k\pi)}{\prod_{d=1}^{r-1} \left(\sum_{j=1}^d k_j\right)^{2p_d} \cdot \left(\sum_{j=1}^r k_j\right)^s} \end{aligned}$$

for  $r \in \mathbb{N}$  with  $r \geq 2$  and  $p_1, p_2, \dots, p_{r-1} \in \mathbb{N}$ , where

$$(1.11) \quad \Phi_r = \left\{ \mathbf{k} = (k_j) \in (\mathbb{Z} \setminus \{0\})^r \mid \sum_{j=1}^d k_j \neq 0 \ (1 \leq d \leq r-1), \sum_{j=1}^r k_j > 0 \right\}.$$

Using the method similar to our previous one, we prove some functional relations for these series. For example, we have

$$(1.12) \quad \mathfrak{X}_2(2p, s) = -\mathfrak{X}_1(s + 2p) \quad (s \in \mathbb{C}; p \in \mathbb{N}),$$

which is an analogue of (1.9). Putting  $p = 1$  and  $s = 5$  in (1.12), we have

$$\mathfrak{X}_2(2, 5) = -\mathfrak{X}_1(7) = -\frac{19}{56700}\pi^7.$$

Also, putting  $s = -3$  and using (1.4), we have

$$\mathfrak{X}_2(2, -3) = -\mathfrak{X}_1(-1) = -2\mathcal{X}(-1) - \zeta(-1) = \frac{1}{4\pi}$$

in the non-convergent area. These can be regarded as certain multiple analogues of Ramanujan’s formulas for the values not only at positive integers but also at negative integers.

### 2. Key lemma

In this section, we prove the following lemma.

**Lemma 2.1.** *For  $r \in \mathbb{N}$  with  $r \geq 2$ ,  $p_1, p_2, \dots, p_r \in \mathbb{N}$  and  $\theta \in \mathbb{R}$ ,*

$$(2.1) \quad \sum_{\mathbf{k} \in \Phi_r} \frac{\coth(k_1\pi) \sin\left(\left(\sum_{j=1}^r k_j\right)\theta\right)}{\prod_{d=1}^r \left(\sum_{j=1}^d k_j\right)^{2p_d}} + (-1)^r \sum_{k=1}^{\infty} \frac{\coth(k\pi) \sin(k\theta)}{k^2 \sum_{d=1}^r p_d} = 0.$$

*Proof.* We prove the assertion by induction on  $r \geq 2$ . Let

$$(2.2) \quad \Lambda_r = \left\{ \mathbf{k} = (k_j) \in (\mathbb{Z} \setminus \{0\})^{r-1} \times \mathbb{Z} \mid \sum_{j=1}^d k_j \neq 0 \ (1 \leq d \leq r) \right\}.$$

In the case  $r = 2$ , we see that

$$\begin{aligned} & \sum_{(k_1, k_2) \in \Lambda_2} \frac{\coth(k_1\pi) \sin((k_1 + k_2)\theta)}{k_1^{2p_1} (k_1 + k_2)^{2p_2}} \\ &= \sum_{k_1 \in \mathbb{Z} \setminus \{0\}} \sum_{\substack{k_2 \in \mathbb{Z} \\ k_1 + k_2 \neq 0}} \frac{\coth(k_1\pi) \sin((k_1 + k_2)\theta)}{k_1^{2p_1} (k_1 + k_2)^{2p_2}} \\ &= \sum_{k_1 \in \mathbb{Z} \setminus \{0\}} \frac{\coth(k_1\pi)}{k_1^{2p_1}} \sum_{n \in \mathbb{Z} \setminus \{0\}} \frac{\sin(n\theta)}{n^{2p_2}} = 0 \end{aligned}$$

by putting  $n = k_1 + k_2$  and changing the index  $n$  into  $-n$ . The left-hand side is equal to

$$\begin{aligned} & \sum_{k_1 \in \mathbb{Z} \setminus \{0\}} \sum_{\substack{k_2 \in \mathbb{Z} \setminus \{0\} \\ k_1 + k_2 \neq 0}} \frac{\coth(k_1 \pi) \sin((k_1 + k_2)\theta)}{k_1^{2p_1} (k_1 + k_2)^{2p_2}} + \sum_{k_1 \in \mathbb{Z} \setminus \{0\}} \frac{\coth(k_1 \pi) \sin(k_1 \theta)}{k_1^{2p_1 + 2p_2}} \\ &= 2 \sum_{(k_1, k_2) \in \Phi_2} \frac{\coth(k_1 \pi) \sin((k_1 + k_2)\theta)}{k_1^{2p_1} (k_1 + k_2)^{2p_2}} + 2 \sum_{k_1=1}^{\infty} \frac{\coth(k_1 \pi) \sin(k_1 \theta)}{k_1^{2p_1 + 2p_2}}, \end{aligned}$$

by changing the indices  $(k_1, k_2)$  into  $(-k_1, -k_2)$ . Thus we have the assertion in the case  $r = 2$ .

Now we assume the case of  $r - 1$  holds and consider the case of  $r$ .

$$\begin{aligned} & \sum_{(k_j) \in \Lambda_r} \frac{\coth(k_1 \pi) \sin\left(\left(\sum_{j=1}^r k_j\right) \theta\right)}{\prod_{d=1}^r \left(\sum_{j=1}^d k_j\right)^{2p_d}} \\ &= \sum_{\substack{(k_j) \in \Lambda_{r-1} \\ k_{r-1} \neq 0}} \frac{\coth(k_1 \pi)}{\prod_{d=1}^{r-1} \left(\sum_{j=1}^d k_j\right)^{2p_d}} \sum_{n \neq 0} \frac{\sin(n\theta)}{n^{2p_r}} = 0 \end{aligned}$$

by putting  $n = k_1 + \dots + k_r$  and changing the index  $n$  into  $-n$ . The left-hand side is equal to

$$\begin{aligned} & 2 \sum_{(k_j) \in \Phi_r} \frac{\coth(k_1 \pi) \sin\left(\left(\sum_{j=1}^r k_j\right) \theta\right)}{\prod_{d=1}^r \left(\sum_{j=1}^d k_j\right)^{2p_d}} \\ &+ 2 \sum_{(k_j) \in \Phi_{r-1}} \frac{\coth(k_1 \pi) \sin\left(\left(\sum_{j=1}^{r-1} k_j\right) \theta\right)}{\prod_{d=1}^{r-2} \left(\sum_{j=1}^d k_j\right)^{2p_d} \cdot \left(\sum_{j=1}^{r-1} k_j\right)^{2p_{r-1} + 2p_r}} \end{aligned}$$

by separating  $k_r \neq 0$  or  $= 0$  and by changing the indices  $(k_1, \dots, k_r)$  into  $(-k_1, \dots, -k_r)$ . By the assumption of induction, the second term is equal to

$$-2(-1)^{r-1} \sum_{k=1}^{\infty} \frac{\coth(k\pi) \sin(k\theta)}{k^2 \sum_{d=1}^r p_d}.$$

Thus we have the assertion in the case of  $r$ . By induction, we complete the proof of this lemma. □

### 3. Main theorem and its proof

In this section, we prove the main theorem in this paper as follows.

**Theorem 3.1.** *For  $r \in \mathbb{N}$  with  $r \geq 2$  and  $p_1, p_2, \dots, p_{r-1} \in \mathbb{N}$ ,*

$$(3.1) \quad \mathfrak{X}_r(2p_1, \dots, 2p_{r-1}, s) = (-1)^{r-1} \mathfrak{X}_1 \left( s + 2 \sum_{j=1}^{r-1} p_j \right)$$

*holds for  $\Re s > 1$ . Furthermore the left-hand side of (3.1) can be continued meromorphically to  $\mathbb{C}$  by this equation.*

First we quote the following fact which is one of the main result in our previous paper [12].

Let  $Z(s)$  be the Dirichlet series defined by

$$(3.2) \quad Z(s) = \sum_{m=1}^{\infty} \frac{a_m}{m^s},$$

where  $\{a_n\} \subset \mathbb{C}$ . Let  $\Re s = \rho$  ( $\rho \in \mathbb{R}$ ) be the abscissa of convergence of  $Z(s)$ . This means that if  $\Re s > \rho$  then  $Z(s)$  is convergent and if  $\Re s < \rho$  then  $Z(s)$  is not convergent. We further assume that  $0 \leq \rho < 1$ .

**Theorem 3.2** ([12] Theorem 3.1). *Assume that*

$$(3.3) \quad \sum_{m=1}^{\infty} a_m \sin(mt) = 0$$

*is boundedly convergent for  $t > 0$  and that, for  $\rho < s < 1$ ,*

$$(3.4) \quad \lim_{\lambda \rightarrow \infty} \sum_{m=1}^{\infty} a_m \int_{\lambda}^{\infty} t^{s-1} \sin(mt) dt = 0.$$

*Then  $Z(s)$  can be continued meromorphically to  $\mathbb{C}$ , and actually  $Z(s) = 0$  for all  $s \in \mathbb{C}$ .*

Now we aim to apply this theorem to the situation mentioned above. For this aim, we further quote the following result.

**Lemma 3.3** ([12] Lemma 7.6). *For  $r \in \mathbb{N}$  and  $p_1, \dots, p_r \in \mathbb{N}$ ,*

$$\sum_{\mathbf{k} \in \Omega_r} \frac{1}{\prod_{d=1}^r \left( \sum_{j=1}^d k_j \right)^{2p_d}} \leq \prod_{d=1}^r \{2\zeta(2p_d)\} < \infty,$$

*where*

$$\Omega_r := \left\{ \mathbf{k} = (k_j) \in (\mathbb{Z} \setminus \{0\})^r \mid \sum_{j=1}^d k_j \neq 0 \ (1 \leq d \leq r) \right\}.$$

*Proof of Theorem 3.1.* By Lemma 3.3, we see that the left-hand side of (2.1) satisfies the conditions (3.3) and (3.4) because of the absolute convergence. Hence, by Theorem 3.2, we see that

$$(3.5) \quad \mathfrak{X}_r(2p_1, \dots, 2p_{r-1}, 2p_r + s) + (-1)^r \mathfrak{X}_1 \left( s + 2 \sum_{j=1}^r p_j \right) = 0$$

holds for any  $s \in \mathbb{C}$ , where the left-hand side of (3.5) is continued meromorphically to  $\mathbb{C}$ . Since  $\mathfrak{X}_1(s)$  is continued meromorphically to  $\mathbb{C}$ , so is  $\mathfrak{X}_r(2p_1, \dots, 2p_{r-1}, 2p_r + s)$ . Hence, by placing  $2p_r + s$  with  $s$ , we have the assertion of Theorem 3.1.  $\square$

**Example 1.** By Theorem 3.1, we have, for example,

$$(3.6) \quad \mathfrak{X}_2(2, s) = -\mathfrak{X}_1(s + 2);$$

$$(3.7) \quad \mathfrak{X}_3(2, 6, s) = \mathfrak{X}_1(s + 8);$$

$$(3.8) \quad \mathfrak{X}_4(4, 4, 2, s) = -\mathfrak{X}_1(s + 10).$$

Putting  $s = 3$  in (3.7) and  $s = 5$  in (3.8), we respectively obtain

$$\begin{aligned} \mathfrak{X}_3(2, 6, 3) &= \mathfrak{X}_1(11) = \frac{1453}{425675250} \pi^{11}; \\ \mathfrak{X}_4(4, 4, 2, 5) &= -\mathfrak{X}_1(15) = -\frac{13687}{390769879500} \pi^{15}. \end{aligned}$$

Also, by putting  $s = -3$  in (3.6) and by using (1.5) and (1.7), we have

$$\begin{aligned} \mathfrak{X}_2(2, -5) &= -\mathfrak{X}_1(-3) = -2\mathcal{X}(-3) - \zeta(-3) \\ &= -\frac{\Gamma(1/4)^8}{2560\pi^6} = -\frac{1}{40} \left( \frac{\varpi}{\pi} \right)^4. \end{aligned}$$

We can regard these results as multiple analogues of Ramanujan's formulas for the values not only at positive integers but also at negative integers.

**Acknowledgements.** The author would like to express his sincere gratitude to Professor Bruce C. Berndt for his valuable comments and encouragements during his stay in Kyoto. The author also thanks Professors Kohji Matsumoto and Yasushi Komori for their valuable suggestions about analytic properties of multiple Dirichlet series. Furthermore the author greatly thanks the referee for his or her helpful comments and suggestions.

## References

- [1] B. C. BERNDT, *Generalized Dedekind eta-functions and generalized Dedekind sums*. Trans. Amer. Math. Soc. **178** (1973), 495–508.
- [2] B. C. BERNDT, *Generalized Eisenstein series and modified Dedekind sums*. J. Reine Angew. Math. **272** (1974), 182–193.



- [3] B. C. BERNDT, *Modular transformations and generalizations of several formulae of Ramanujan*. Rocky Mountain J. Math. **7** (1977), 147–189.
- [4] B. C. BERNDT, *Analytic Eisenstein series, theta-functions, and series relations in the spirit of Ramanujan*. J. Reine Angew Math. **303/304** (1978), 332–365.
- [5] B. C. BERNDT, *Ramanujan's Notebooks*, part II. Springer-Verlag, New-York, 1989.
- [6] B. C. BERNDT, *Ramanujan's Notebooks*, part V. Springer-Verlag, New-York, 1998.
- [7] K. DILCHER, *Zeros of Bernoulli, generalized Bernoulli and Euler polynomials*. Memoirs of Amer. Math. Soc. **386** (1988).
- [8] M. E. HOFFMAN, *Multiple harmonic series*. Pacific J. Math. **152** (1992), 275–290.
- [9] K. KATAYAMA, *On Ramanujan's formula for values of Riemann zeta-function at positive odd integers*. Acta Arith. **22** (1973), 149–155.
- [10] M. LERCH, *Sur la fonction  $\zeta(s)$  pour valeurs impaires de l'argument*. J. Sci. Math. Astron. pub. pelo Dr. F. Gomes Teixeira, Coimbra **14** (1901), 65–69.
- [11] S. L. MALURKAR, *On the application of Herr Mellin's integrals to some series*. J. Indian Math. Soc. **16** (1925/1926), 130–138.
- [12] K. MATSUMOTO, H. TSUMURA, *A new method of producing functional relations among multiple zeta-functions*. Quart. J. Math. **59** (2008), 55–83.
- [13] D. ZAGIER, *Values of zeta functions and their applications*. In “Proc. First Congress of Math., Paris”, vol. II, Progress in Math. **120**, Birkhäuser, 1994, 497–512.

Hirofumi TSUMURA

Department of Mathematics and Information Sciences

Tokyo Metropolitan University

Minami-Ohsawa, Hachioji

192-0397 Tokyo, Japan

*E-mail*: tsumura@tmu.ac.jp